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Develop counting up subtraction

e.g. 200 — 167 Expanded column subtraction with 3- and 4-digit numbers

e.g. 726 — 358
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200 -167 = 33

3+30=33
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Begin to develop compact column subtraction

e.g. 726 — 358
1
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Use counting up subtraction to find change from £1, £5 and £10 5
e.g. £10-00 — £6-84
6

Use counting up subtraction to find change from £10, £20, £50 and
£100

e.g. Buy a computer game for £34-75 using £50
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Recognise complements of any fraction to 1
- - eg.1—1/4=3/4
- eg.1-3/56=2/5

Subtract like fractions
e.g. 3/8—-1/8=2/8
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Taking away

Use place value to subtract decimals
e.g. 4-58 - 0-08
eg.6-26-0-2

Take away multiples of powers of 10
e.g. 15672 - 300
eg.4-82—-2e.9.2-71-0-5
e.g. 4-68—-0-02

Partitioning or counting back
e.g. 3964 — 1051
e.g.572-2-01

Subtract near multiples of 1, 10, 100, 1000, 10 000 or £1
e.g. 86 456 — 9999
e.g.3-58-1-99

Countingup

Find a difference between two numbers by counting up from the
smaller to the larger

e.g. £12-05 - £9-59
e.g. 2009 — 869
2009 - 869 = 1140

1+30+100 +1000 +9 = 140

1000

Taking away

Use place value to subtract decimals
e.g.7-782—-0-08
e.g.16-263—-0-2

Take away multiples of powers of 10
e.g. 132 956 — 400
e.g. 686 109 — 40 000
e.g.7-823-0-5

Partitioning or counting back
e.g.3964 — 1051
eg.572-2-01

Subtract near multiples of powers of 10

e.g. 360 078 — 99 998
e.g.12-831— 0-99
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Find change using shopkeepers’ addition
e.g. Buy a toy for £6-89 using £10-00

Countingup

Find a difference between two decimal numbers by counting up
from the smaller to the larger

eg.1-2—-0-87

£10-00 - £6:89 = £3-Il

Ip + 10p + £3:00 = £3-Ii I2-087= 033

0:03+01+02=033
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Find a difference between two amounts of money by counting up

Using number facts

Derived facts from number bonds to 10 and 100
e.g.0-1—-0-075 using 75 + 25 = 100
e.g. 5—0-65 using 65 + 35 = 100

Using number facts

Derived facts from number bonds to 10 and 100
e.g. 2— 0-45 using 45 + 565 = 100
e.g. 3—0-86 using 86 + 14 = 100
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0-65 |
Numberbondsto£1,£10and£100

e.g. £4-00 — £3-86
e.g. £100 — £66 using 66 + 34 = 100

Numberbondsto£1,£10and£100
e.g. £7-00 — £4-37
e.g. £100 — £66-20 using 20p + 80p = £1 and £67 + £33 = £100




